15. Realiza las siguientes divisiones utilizando |a regla de Ruffini:

a) (X =N:ix=1

B i—x® = 3x" +Sx—3:(x+ 1
) (=3 +x—Dix =3
d) 5x' =3 ix+2)

e) (3x=2x +x):(x+2
fi (=257 +4Ax")  (x=2)
a) (x* = xF—x+ T x=1)

hy (=2%" +3x° + 27 + 48): (k= 2)

SOLUCIONES
15.
2) C(x)=x>+x+1 b) C(x)=—x+x"—4x+9
R(x)=0 R(x)=-12
0 0 1 0 -3 5 2
| | | | I 4 9
| I 0 | | 4 g |2
0 C(x)=x>+1 d) C(x)=x"-2x+4
R(x)=1 R(x)=-11
| -3 2
5 0 0 -3
2 3 0 g 2 2z 4 -8
| 0 | | | -2 4 -1
0 C(x)=3x"-8x+17 C(x)=-2x"
R(x)=-34 R(x)=0
] -2 0 2 4 0 0
2 B |B 24 - 4 o o
3 8 17 -24 2 0 D 0
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g)

C(x)=x"+x"—1 Cx)=-2"—x" —2x* —4x’ —6x° —12x—24

h)
R(x)=0 R(x)=0
o - - -2 2 0 0 2 0O 0O 4ag
o - 4 -2 -4 -8 -12 -24 -48
2
D ; O -2 -1 -2 -4 -8 -12 -24 O
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